Tpu2oHOMempu4yeck
ue ypasHeHUs




UbPFPASLIbI pelleHund
TPUTOHOMETPUYECKUX
ypaBHEHUU

« 3agaHune: pasobpaTtb 1 3anmcaTb B
TeTpaab pelleHne NPoCTEULLNX
TPUTOHOMETPUYECKNX YPaBHEHUN.




Pewume

Nel) cosx = %

1
x=t arccos: + 2nn,n € Z

x = ig-&- 2nn,n € Z

yPaBHEeHUsI:

Ne2) cosx= -1
2

x = tarccos( —§)+ 2rnn € Z
x=1(mn- arccos§)+ 2nn,n € Z
r= T - §)+ 2nn,n € Z

X = ;t-za—n+27m,nEZ




Pewume ypaeHeHusi

Ne3) cos 4x = 1 Ned) *_ 4

A =2TIn,n € Z

X
) =+ 2mn,nes
2TNn
X= —,nes
4 X = 2w+ 4nn,neZ
mn

X = —,NEL
2




Pewume ypaeHeHue

Ne 5 cos(x-l- )=0

x=—§+§+7m,neZ

T
X =g+7m,neZ




Ne6. Pewume ypagHeHUE : s —

|3

COSX =

|3

7 S iarccos7+ 2min,n € Z

= if+ 2nin,n € Z




CamocTosiTenbHasa padoTta
PewunTte ypaBHeHUSA:

2) a V3 0) V3

COSX = —— COSX = ——
2 2

(no obpasLy Nelunum Ne6) (no obpasuy Ne2)

B)

cos2x=1
( no oopasuy Ne3)




Bbi1 monodusbi!




